

Bid Tab Mill Bay Road Pavement Rehabilitation - TOTAL PN 17-02/5036.

Bid Item			Units	Engineers Estimate		Brechan Construction LLC		QAP	
1	Base Bid	1	each	1,112,110.00	\$1,112,110.00	\$495,097.00	\$495,097.00	\$642,600.00	\$642,600.00
2	Additional Alt #1	1	each	\$368,834.00	\$368,834.00	\$225,905.00	\$225,905.00	\$239,042.00	\$239,042.00
3	Additional Alt #2	1	each	\$378,930.00	\$378,930.00	\$235,923.00	\$235,923.00	\$285,870.00	\$285,870.00
		Grand Total		\$1,8	359,874.00	\$95	6,925.00	\$1,10	67,512.00



Bid Tab Mill Bay Road Pavement Rehabilitation - Base Bid PN 17-02/5036

Bid Item	Description	Quantity	Units	Engineers Estimate		Brechan Construction LLC		QAP		
1		180	cubic yard	\$30.00	\$5,400.00	\$1.00	\$180.00	\$50.00	\$9,000.00	
2	Borrow Leveling Course, D-1	166	ton	\$50.00	\$8,300.00	\$40.00	\$6,640.00	\$45.00	\$7,470.00	
3	Recycled Asphalt Product (RAP)	166	ton	\$40.00	\$6,640.00	\$17.00	\$2,822.00	\$45.00	\$7,470.00	
4	Remove Pavement	14490	square foot	\$1.00	\$14,490.00	\$1.00	\$14,490.00	\$4.00	\$57,960.00	
5	Asphalt Concrete Pavement, Type IIB	1564	ton	\$340.00	\$531,760.00	\$235.00	\$367,540.00	\$200.00	\$312,800.00	
6	Asphalt Concrete Leveling Course, Type IVB	44	station	\$890.00	\$39,160.00	\$650.00	\$28,600.00	\$700.00	\$30,800.00	
7	Pavement Rotomilling	3125	square yard	\$2.00	\$6,250.00	\$5.00	\$15,625.00	\$20.00	\$62,500.00	
8	Mobilization and Demobilization	1	Lump Sum	\$300,000.00	\$300,000.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	
9	Traffic Maintenance	1	Lump Sum	\$125,000.00	\$125,000.00	\$21,000.00	\$21,000.00	\$55,000.00	\$55,000.00	
10	Stormwater Pollution Prevention Plan	1	Lump Sum	\$28,910.00	\$28,910.00	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	
11	Construction Survey Measurement	1	Lump Sum	\$15,000.00	\$15,000.00	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	
12	Adjust Existing Monuments	1	Lump Sum	\$2,400.00	\$2,400.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	
13	Adjust Manhole to Finish Grade	12	each	\$1,200.00	\$14,400.00	\$1,200.00	\$14,400.00	\$500.00	\$6,000.00	
14	Adjust Valve Box to Finish Grade	18	each	\$800.00	\$14,400.00	\$600.00	\$10,800.00	\$200.00	\$3,600.00	
	Grand Total			\$1,112,110.00		\$49	5,097.00	\$64	42,600.00	



Bid Tab Mill Bay Road Pavement Rehabilitation - Addt'l #1 PN 17-02/5036.

Bid Item	Description	Quantity	Units	Engineers Estimate		Brechan Construction LLC		QAP		
1	Unclassified Excavation	30	cubic yard	\$30.00	\$900.00	\$1.00	\$30.00	\$50.00	\$1,500.00	
2	Borrow Leveling Course, D-1	27	ton	\$50.00	\$1,350.00	\$40.00	\$1,080.00	\$80.00	\$2,160.00	
3	Recycled Asphalt Product (RAP)	27	ton	\$40.00	\$1,080.00	\$17.00	\$459.00	\$80.00	\$2,160.00	
4	Remove Pavement	2346	square foot	\$1.00	\$2,346.00	\$1.00	\$2,346.00	\$7.00	\$16,422.00	
5	Asphalt Concrete Pavement, Type IIB	679	ton	\$340.00	\$230,860.00	\$230.00	\$156,170.00	\$160.00	\$108,640.00	
6	Asphalt Concrete Leveling Course, Type IVB	25	station	\$890.00	\$22,250.00	\$650.00	\$16,250.00	\$850.00	\$21,250.00	
7	Pavement Rotomilling	3214	square yard	\$2.00	\$6,428.00	\$5.00	\$16,070.00	\$15.00	\$48,210.00	
8	Traffic Maintenance	1	Lump Sum	\$65,000.00	\$65,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	
9	Stormwater Pollution Prevention Plan	1	Lump Sum	\$9,820.00	\$9,820.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	
10	Construction Survey Measurement	1	Lump Sum	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	
11	Adjust Existing Monuments	1	Lump Sum	\$2,400.00	\$2,400.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00	
12	Adjust Manhole to Finish Grade	9	each	\$1,200.00	\$10,800.00	\$1,200.00	\$10,800.00	\$500.00	\$4,500.00	
13	Adjust Valve Box to Finish Grade	6	each	\$800.00	\$4,800.00	\$600.00	\$3,600.00	\$200.00	\$1,200.00	
14	Adjust Cleanout to Finish Grade	1	each	\$800.00	\$800.00	\$600.00	\$600.00	\$500.00	\$500.00	
	Grand Total			\$368,834.00		\$22	5,905.00	\$239,042.00		



Bid Tab Mill Bay Road Pavement Rehabilitation - Addt'l #2 PN 17-02/5036.

Bid Item	Description	Quantity	Units	Engineers Estimate		Brechan Construction LLC		QAP		
1	Unclassified Excavation	43	cubic yard	\$30.00	\$1,290.00	\$1.00	\$43.00	\$40.00	\$1,720.00	
2	Borrow Leveling Course, D-1	40	ton	\$50.00	\$2,000.00	\$40.00	\$1,600.00	\$100.00	\$4,000.00	
3	Recycled Asphalt Product (RAP)	40	ton	\$40.00	\$1,600.00	\$17.00	\$680.00	\$100.00	\$4,000.00	
4	Remove Pavement	3450	square foot	\$1.00	\$3,450.00	\$1.00	\$3,450.00	\$7.00	\$24,150.00	
5	Asphalt Concrete Pavement, Type IIB	660	ton	\$340.00	\$224,400.00	\$245.00	\$161,700.00	\$205.00	\$135,300.00	
6	Asphalt Concrete Leveling Course, Type IVB	13	station	\$890.00	\$11,570.00	\$650.00	\$8,450.00	\$1,500.00	\$19,500.00	
7	Pavement Rotomilling	1760	square yard	\$2.00	\$3,520.00	\$5.00	\$8,800.00	\$25.00	\$44,000.00	
8	Traffic Maintenance	1	Lump Sum	\$65,000.00	\$65,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	
9	Stormwater Pollution Prevention Plan	1	Lump Sum	\$9,700.00	\$9,700.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
10	Construction Survey Measurement	1	Lump Sum	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	
11	Adjust Existing Monuments	1	Lump Sum	\$1,600.00	\$1,600.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
12	Adjust Manhole to Finish Grade	12	each	\$1,200.00	\$14,400.00	\$1,200.00	\$14,400.00	\$500.00	\$6,000.00	
13	Adjust Valve Box to Finish Grade	38	each	\$800.00	\$30,400.00	\$600.00	\$22,800.00	\$150.00	\$5,700.00	
	Gr	l	\$378,930.00		\$235,923.00		\$285,870.00			